FER2FEEE=RIOTRAEDTEERET—42 Gy
224 FEAL ) B BR BT SRR AR R kR T —

FliE T Ay AN

TR : A9 (pg/g-wet)

M5 AL R T

GRS IN

TR AXX

ELESIEL7LEY TR T E A T R IRAE | & TR

[1] PCB¥H 12,5 17,000 %20 52
[1-1]€/ 277 ==L 12,5 tr(1.0) 0.8 2.0
[12]YZ7vvber =/ 1,2,5 42 1 4
[1-3] Y Zomr b7 ==/l 1,2,5 560 3 8
[1-4] 7 FF 7 nm 7 ==L 12,5 2,600 2 4
[1-4-11 27T F—PCBD > H3344-FT kTt 7==,L (#77) 1,2,5 16 1 4
[1-4-21 275 F—PCBD H H 34457 hT7/7mnb 7 ==/ (#81) 1,2,5 nd 2 4
[1-51 %277 =/ 12,5 4,600 2 6
[1-5-11 275 F—PCBD 5 5 23344~ 7nnt 7 ==/l (%105 1,2,5 190 1 3
[1-5-2] 275 F—PCBD H 5 2344 54 7nnt 7 ==/ (#114) 1,2,5 14 1 4
[1-5-3] 275 F—PCBD 5 5 23 44 5- % 7nnt 7 =)L (#118) 1,2,5 710 2 6
[1-5-4] 275 F—PCBD 9 H 2344 5-XF7nn b7 x=/L (#123) 1,2,5 15 1 3
[1-5-5] 275 F—PCBD 5 5 3344577 ==/l (%126 12,5 3.5 0.9 22
[1-6] ~FH¥ 7 nn b7 ==/ 1,2,5 6,100 2 5
[1-6-11 27 ZF—PCBD > 5 233 44,5~F 7 nn 7=/l (#156) 1,2,5 65 1 3
[1-6-2] =75 F—PCBD 5 5 233445 ~FH oot 7 ==, (#157) 1,2,5 36 2 4
[1-6-3] 27T F—PCBD 5 5 2,3 4,4,55-~FH 7ot 7 ==/l (#167) 1,2,5 40 2 5
[1-6-4] 27 FF—PCBD H 5 3344 55-~FH%7upt 7 ==/ (£169) 1,2,5 nd 2 4
[1-7] ~7 %7 ar b7 ==L 12,5 2,300 2 6
[1-7-11 275 F—PCBD 5 5 2,233 44,5-~F 4 7ot~ ==/, (£170) 12,5 180 2 6
[1-7-2] 275 F—PCBD 5 5 2,2' 3,44 55-~F 4 7ot~ ==/, (£180) 1,2,5 560 2 5
[1-7-31 277 F—PCBD H 52,3344 55-~7F 4 /o7 x-=/L (#189) 1,2,5 8 2 6
[1-8] A7 # 7 nm 7 = =)L 12,5 380 2 5
[1-:9] V7 muE 7=/l 1,2,5 22 2 5
[1-10] FHZ v 7 ==L 1,2,5 tr(6) 3 7
[21HCB (~FH 7o Er) 1,2,5 36 2 5
[6] DDT4H 1,2,5 3,000 ¥43 X312
[6-1] p,p'-DDT 12,5 280 1 3
[6-2] p,p'-DDE 12,5 2,100 1 3
[6-3] p,p'-DDD 12,5 480 0.5 13
[6-4] 0,p'-DDT 1,2,5 42 1 3
[6-5] 0,p'-DDE 12,5 34 0.6 1.5
[6-6] 0,p'-DDD 12,5 78 0.2 0.6
[7] 7 v V7 A 1,2,5 2,600 HX9 #3622
[7-1]cis-Z7 v VT 12,5 540 2 4
[7-2] trans-Z7 B LT v 1,2,5 190 1 3
[7-3] A F> 7 mLsF 1,2,5 140 3 8
[7-4] cis-/ F 2 1)L 12,5 480 1 3
[7-5] trans- / F~ 2 & )b 12,5 1,200 2 4
[8] ~7 % 7 aV¥A 1,2,5 18 ¥¥2.9 ¥%8.4
[8-1] ~T % 7L 12,5 tr(2) 1 3
[8-2] cis~TF X 7 mLERF LR 12,5 16 0.9 2.4
[8-3] trans-~7" X 7 )L =HRF T K 1,2,5 nd 1 3
[11-1] a-HCH 12,5 8 1 3
[11-2] B-HCH 12,5 21 1 3
[11-3]y-HCH (314 : U >5 ) 1,2,5 3 1 3
[11-4] 8-HCH 12,5 nd 1 3

(FED Bt FIRELL B2t & L7,

(1F2) BB SIS L-FZORB2FRETORA L, RIRE LTHIE L,

(TE3) XSE R T IR IR AR O E B[ H] FIRMEDOAFHME & L7z,



TR2FEE-S) T RESTRBHRE TS

PRk 226 AL A B RS SE AR A R MBI 7 —

A B AT
FRAMAA 4= (pg/g—wet)
beLh/a B il NN
A IR ST

£

AW : A%
A GE TR T E i B FRRAE | i FRRAE

[12]1 7 BV F = 1,3,5 nd 23 5.9
[13]~FHTBELT = =/LH 12,5 nd ¥K10 ¥4
[13-112,2'4,4'5,5-~% T nEE7 =z =/L (#153) 1,2,5 nd 2 4
[13-2]12,2'4,4'5,6-~F 7ot 7 ==L (#154) 12,5 nd 2 5
[13-3]12,2'4,4.6,6-~F 7ot 7 ==L (#155) 12,5 nd 2 5
[13-4]2,3,3' 44,5-~FH 7 E 7 = =/L (£156) 1,2,5 nd 0.7 1.9
[13-5]3,3,4,4'55-~F 7 onEEL 7 ==/ (#169) 1,2,5 nd 3 8
[4] ARV T uEY T z=ro—F NV (REHERAPHI0ETOHD) 1,2,5 tr(310) X150 %3%400
[14-1]1F F 57 REY T ==L —F LI 12,5 180 16 43
[14-1-1]2244-F R T 7T REY 7 == LT—7 )L (#47) 12,5 180 16 43
[14-2] R # T EY T = =T —F LI 12,5 48 6 14
[14-2-112,2'4,4,5-_0 4 70 EY T = =)LT—F )L (#99) 1,2,5 tr(10) 6 14
[14-3] ~FH T B EY T = = /LT —F LI 1,2,5 57 3 8
[14-3-1]2,2'4,4' 55-~F ¥ T RED 7 = =/LT—F /L (#153) 12,5 tr(4) 3 8
[14-3-2] 2,244 5.6 -~FF T HED T = =)Lt —F )L (#154) 1,2,5 17 2 5
[14-4] ~T 4 T aE®Y 7 = =)L =—F )L 1,2,5 nd 10 30
[14-4-112,2'3,3'4,5.6-~7 4 70 &7 = =/Lx—F /)L (#175) KO 12,5 nd 10 30
[14-4-212,2'3,44'5.6-~FF T 0EY 7 == /L—F /)L (#183) DOAFHIE
[14-5] 427 % 7T a®Y7 == )Lo—T L 1,2,5 24 4 11
[14-6] / T 7 REY T = =/LT—F LR 1,2,5 nd 10 30
4NN TH7aEY 7 2= )LT—TF )L 1,2,5 nd 97 270
[15] =7 NFuts & ALK (PFOS) 12,5 720 9.6 25
[16] "L 7 A2 % ik (PFOA) 12,5 tr(10) 9.9 26
[17] Ry & r7maRot 12,5 15 0.7 1.9
[19] R U 7 F LA ZAW 1 9,400 160 420

3 6,800

5 12,000
[20] b U 7 = = 2 X{bE4 1 7,100 110 270

3 6,000

5 6,600
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